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Name: ......................

June 19, 2013

Complete the following CCG derivations:

The ball is on the table .

---- ---- ------------- ----- ---- ----- ---

NP/N N (S:dcl\NP)/PP PP/NP NP/N N S:X\S:X

Mr Clinton is easy to please .

---- ------- ---- -------- ----------------- ------------ ---

NP/N N (S:dcl\NP)/(S:adj\NP) (S:adj\NP)/((S:to\NP)/NP) (S:to\NP)/(S:b\NP) (S:b)\NP)/NP S:X\S:X

The biggest threat to an author ’s livelihood is n’t piracy

---- ------- ------ ----- ---- ------ -------------- ---------- ------------- ----------------- ------

NP/N N/N N/PP PP/NP NP/N N (NP/(N/PP))\NP N/PP (S:dcl\NP)/NP (S:X\NP)\(S:X\NP) NP


